Bractic? Fro plemS Arswers
W

| iy o) =Vl gy OV Vay o el tr0 @ Puzxn(20
0 +& Vige)=o, vilith=1 £ "\"{?};:':z;)w(,n,:
' LA
e %““rn@» Sanm) Yo xPryey
A A - ’\{-‘ - «_X“f‘ X
Ul )= % AT 2 AR
Z ne Sm(m‘r&) .L?gs_\,._‘:iﬁw__l Vis)= 2 _CL“
: .m&m Q= iA ntbr Ky 4-;&*2@% rE **" Xfé = #-"“Ct*'f- i
L 5 - Lf ? S %m&—kf;ﬁ.;g -
? ﬁ\n inlny) fﬂ L ‘L_w,‘vwﬁﬁﬁ*_qﬁé‘{s‘*f.“e "{Jmmx‘i e |
P, ~ Py N L2 zws__iwﬂ‘“%\c{ﬁ{ TR )
= whiy + -Cneri
\(r ) -5 7@)&,\(4932 Maktmum  S+7=2 mm gﬁ:ﬁ’“"?’ﬂ
J — mintmum 5] .“2 T
I (2) Fourier Stne_ “h’“"‘g“c“m
A

331 L= -'%SL“*W,} 7 dU__ - d U‘i—d}g) ¢) Ul tl=ce
Ulay0)- }S 2 [ ;.a; ‘]S Q_(o 2)h . = L e

. —
Ulat)= 04 ot q@t " (13) MMMSGQ A%

, ol & \ C{»
yxr Gt eot2© ) uly el 2_’[)“(&%‘1} e sinlokx)del |

(_b) Dovble Dauricr She Sertes \\-‘.: (”‘U“f Upi= (_’,‘,E‘"\L :

92 e -
"U\hg ]{«) = Zi A E’ Q&mﬂ%ﬁmr‘\}] < h(mﬁﬂsm[wm"ﬁ‘)
l\,(!(i O\ w“hg?‘“ Q,Try\&‘ﬂ(? “’3\5 __> Az_g“ 5 A‘Mﬂzo d%iﬁf@t‘ﬁ‘@f

i AN P P e

\utm 0= g et .mfmm nT) |

() Jupuy== |
(A) e {)__ “L%[’ZL\ g=izwﬂ-) ain (.a,n—llm)]

[ WA= o _@e gm(?%\ =;2_€ 3
o : . e
o Cominge o 2T ALY \
(&) Yr/ome r_Costag i S (V= Ut O;f.) =k U/@‘;gcag(a~+‘)+iz,5'ﬁ(‘“)

4. Gl SO = 0 e ; .
; ?EH B-—;&E\ = )zaosp{ﬁ\&x: %ff“@“?‘\lo: T%;_s““("*‘) CNre D

=3




Vlet,0)= ¢ =0 d
Di=cC,= v
d%t! = et = £ Sinl«) = I
) 5 e~ K) =7 O = L%?&‘r\(oa)

TreA®

Wlat) = iw (&) - Sin(ctt)
35 ve = 17 { It M"“H}

TS A TV R

i R A

eyt MRS
B et
R PR

Wye) = 2
\:} \) ?g iaxh%\ﬁmmiﬁﬂvﬂo{ﬂd%

[
- - r AR o

P




